MAT 100, Exam #2, Summg

Instructions: Show all work
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5. Draw a Kg graph.
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Plano |IMesquite | Arlington | Denton
Fort Worth 54 2 )l 7
Plano 53 41
Mesquite 43 56
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6. Apportion the foIIT)wing table of an imaginary state legislature
if there are 183 seats to be apportioned. (10 points)
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b. The following table shows apportionments for successive censuses with 50 seats each.
State Population #1 | Apportionment pulation #2 | Apportionment
#1 #2
Jefferson 60,000 8 ,000 8
Clay 31,200 4 1,200 5 )
Madison 69,200 10 2,400 10
Jackson 81,600 11 81,600 11
Franklin 118,000 17 18,400 16 D
Totals 360,000 50 63,600 50
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12. Write an expressic
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14. The 100 tiles in Scrabble are distributed as follows:

on below to fill in the Venn Diagram, then de

ermine: (5 points each + diagram)
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Tile Number Tile Number Tile Number Tile Number
Blank 2 A 9 B 2 C 2
D 4 E 12 F : G 3
H 2 I 9 J ] K 1
L 4 M 2 N 6 0 8
P 2 Q 1 R 6 S 4
T 6 ] 4 \' 2 W 2
X 1 Y 2 Z ]
a. What is the probability of selecting an N as the first tile in|a game? (3 points)
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b. What is the probability of selecting a vowel (not Y or blank$) as the first tile? (3 points)
- 2
Qpi2+F+844 i i ,T 2 42%
foo oo || S
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d. What is the probability of selecting the word BOX in order from the first three tiles in a
game? (5 points)
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17. Find the probabili
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a. Find the probability that a person has the virus given
find P(A || B).
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i.e. find P(not A | not B).
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20. Suppose that the odds against an event are 7:9. What is the prabiIity of the event? (5 points)
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21. Suppose that the probability of an event is P(4) = g. What are the odds for the event? (5 points)
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